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PHYSICAL SYSTEMS ANALYSIS I page 1/2
EXAM 3, part 2

CLOSED BOOK, CLOSED NOTES, CLOSED MOUTHS
Due at 5PM on Friday, December 6, 2002
1. Find the impulse response of the circuit below. Let R =L = C = | (with appropriate units). The source is a

current i,(f) = I,d(t). Find v.(t) for t > 0. Please also explain which other element(s) will experience the impulse in
current passing through it/them. - . -
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2. Find the complete response of the circuit shown below. A switch closes at time t = 0 to connect the source
ve(t) = Vo\ﬁ * cos(t). Let R =L = C = 1 (with appropriate units).

-‘i,_(,ﬂ_) = ,U‘L(t.') =6
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CLOSED BOOK, CLOSED NOTES, CLOSED MOUTHS

Due at SPM on Friday, December 6, 2002

1. Find the impulse response of the circuit below. Let R = L = C = 1 (with appropriate units). The source is a
current i,(t) = Ipd(t). Find v(t) for t > 0. Please also explain which other element(s) will experience the impulse in

currentpassingthrough.itlrhcm. XL (6" )-'-/UE (a=)=0
R Lw Sensa, UJI Sounsce 4 /«N\'-'QMM*
3T~ _
L - L) - L T - 2 frax =

0 [ = |
b LSWI_T0 { CT:._JC‘ -3:—:5-” + %I—L 2= ST A - ET_IE Jte)

T I L R A

: .51'-\—-@-94-— = tfrssl =20 D
2

Ic dz N -i’g 1'(64)
Cj}d:l’\) «ﬂ_l—é‘—-o Lf)




-

LAM - ENGINERRING 11 s
Dec 4.
. PHYSICAL SYSTEMS ANALYSIST - apeen s

EXAM 3, part 2

2. Find the complete response of the circuit shown below. A switch closes
at time

va(t) = Vo2 * cos(t). LetR =L =C = 1 (with appropriate units). P et =0 to connect the‘sourca
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